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Enrollment No………………………. 

Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

Corporate Accounting [BCA301T] 

Time: 3:00 Hrs                                                                         Max Marks 85 
Note: - All three sections are compulsory. Student should not write anything on question Paper. 

: -

                                                              (Part-A)                                       [1×5=5] Marks 

This Section contains Objective Type Question each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q.1  Multiple choice Question / oLrqfu"B iz'u 

(i)  What is the basis of calculative dividends -  
ykHkka'k dh x.kuk dk vk/kkj D;k gS &  

(a) Subsided capital / vfHknRr iwath   

(b) Called up capital / ekaxh x;h iwath 

(c) Paid up capital / iznRr iwath   

(d) Paid up capital & calls in advance / iznRr iwath vkSj vfxze ekaxh x;h iwath  

 

(ii) Goodwill is- 
[;kfr gS& 

(a) A tangible / okLrfod  (b) An Intangible / vewrZ  

(c) Fixed / LFkk;h   (d) Current / py 

 
(iii)  Accounting for amalgamation of companies is done - 

daifu;ksa ds lekesyu ds vuqlkj ys[kkadu fd;k tkrk gS &  

(a) AS-4    (b) AS-10  

(c) AS-14    (d) AS-20  

  

(iv)   Rebate on bills discounted is -  

Bills discounted ij NwV gS &  

(a) An Income / vk;  

(b) An Income rescinding advanced / vfxze izkIr vk;  

(c) Expenses / O;;    

(d) None of above / mijksDr esa ls dksbZ ugha    
 

(v)  General Insurance was nationalized in  -  

General Insurance dk jk"Vªh;dj.k gqvk &  

(a) 1956    (b) 1971 

(c) 1969    (d) 1980  

 

           

 

 

 

Part-B  (Hkkx c)                             [5×5=25] Marks 

This section contain short answer type question. Each question carries 5 marks. 

All questions are compulsory. 
y?kq mRrjh; iz'uA izR;sd iz'u ds 5 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 

Q.1 What do you mean by Debentures?  
 _.ki=ksa ls D;k vk'k; gS\ 

Or 
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 Distinguish between Debenture and Shares?  
 _.ki=ksa vkSj va'kksa esa vUrj crkb,\ 

 

Q.2 What do you mean by preference shares? 
 iwokZf/kdkj va'kksa ls D;k vk'k; gS\  

Or 

 How many types of shares?  
 va'k fdrus izdkj ds gksrs gS\ 

 

Q.3 Write a note on managerial remuneration. 
 izca/kdh; ikfjJfed ij fVIi.kh fyf[k,A 

Or 

 Give four examples of contingent liabilities. 
 laHkkO; nkf;Roksa ds pkj mnkgj.k fyf[k,A 

 

Q.4 Write a note on minority interest. 
vYier /kkfj;ksa ds fgr ij fVIi.kh fyf[k,A 

Or 

 Give the objective of Merger?  
 lafofy;u ds mn~ns'; crkb,\  

 

Q.5 Write the special features of the accounts of public utility undertaking?   
 lkoZtfud mi;ksfxrk okys mip;ksa ds ys[kksa dh fo'ks"krk,¡ crkb,\  

Or 

What are the methods of calculating purchase consideration?  
Ø; izfrQy dh x.kuk dh dkSu&dkSu lh fof/k;k¡ gS\  

 

Part-C  (Hkkx l)                                   [5×11=55] Marks 

Long answer type question. Each question carries 11 marks. All questions are compulsory. 
 nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 11 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 

 

 

 

 

 

 

Q. 1 What is meant by Redemption of debentures? Describe the various methods of redemption at debenture?      
 _.ki=ksa ds 'kks/ku ls D;k vk'k; gS\ _.ki=ksa ds ifj'kks/ku dh fofHkUu jhfr;ksa dk o.kZu dhft,A  

                                                  Or ¼vFkok½ 

On 1
st
 January 2014 „A‟ ltd. Issues 4040, 7% debentures of Rs. 100 each @ Rs. 100. These debentures are 

redeemable after 4 years from the date of its issue for the redemption of these debenture „A‟ ltd. took an 

insurance policy of Rs. 404000 and a premium of Rs. 1,00,000 was paid every years on it. Policy amount 

was received at the exping of the four years and the debentures were paid. Open necessary accounts in the 

tooks of „A‟ ltd.   

1 tuojh 2014 dks A fyfeVsM us 4040] 7% _.ki= ftuesa ls izR;sd 100 :i;s dk gS] 100 :i;s dh nj ls fuxZfer fd;s bu 

_.ki=ksa dk Hkqxrku buds fuxZeu ds 4 o"kZ ckn gksuk gSA bu _.ki=ksa ds Hkqxrku ds fy;s A fyfeVsM us 4]04]000 :i;s dh chek 

ikWfylh yh vkSj bl ij izfro"kZ 1]00]000 :i;s izhfe;e fn;kA ikWfylh dh jkf'k 4 o"kZ ds ckn izkIr dh x;h vkSj _.ki=ksa dk 

Hkqxrku dj fn;k x;kA A fyfeVsM dh iqLrdksa esa vko';d [kkrs cukb;\  

 

Q. 2 Prepare a specimen of Companies B/s according to Revised schedule VI of Companies act 1956.  
 daiuh vf/kfu;e 1956 dh la'kksf/kr vuqlwph VI ds vuqlkj dEiuh esa fLFkfr fooj.k dk izk:i cukb,\ 

       Or ¼vFkok½ 

 Describe the concept of goodwill and explain the various methods of its evaluation. 
 [;kfr dh vo/kkj.kk dk o.kZu dhft, vkSj blds eqY;kadu dh fofHkUu fof/k;ksa dks Li"V dhft,A 

 

Q.3 What do you mean by managerial remuneration? How it is determined?  
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 izca/kdh; ikfjJfed ls D;k vk'k; gS\ bldk fu/kkZj.k dSls fd;k tkrk gS\  

                      Or ¼vFkok½ 

 What do understand by holding and subsidiary company? Discuss its advantages and disadvantage. 
 lw=/kkjh dEiuh ,oa lgk;d daiuh ls D;k vk'k; gS\ blds xq.k&nks"kksa dk foospu dhft,A 

 

Q. 4 The paid up capital of a company consists of 3000, 9% preference shares of Rs. 100 each and 60,000 equity 

share of Rs. 10 each (Rs. 8 per share paid up). The expected per year, before tax is Rs. 318000 and the 

normal return for the type of business carried and by the company is 15%. The rate of tax may be taken at 

50%. The company transfer 20% of the profit every year to general reserve find the value of equity shares 

on the basic of expected rate at return.  
 ,d dEiuh dh nRr iwath esa 100 :i;s izfr va'k ds 3000] 9% iwokZf/kdkj va'k rFkk 10 :i;s izfr va'k ds ¼8 :i;s izfr va'k nRr½ 

60000 lerk va'k 'kkfey gSA izfro"kZ djkjksi.k ls igys visf{kr ykHk 318000 :i;s gS vkSj bl izdkj ds O;olk; esa] tSlk fd bl 

dEiuh }kjk pyk;k tk jgk gS lk/kkj.k ykHk 15% gSaA dj dh 32 50% yh tk ldrh gS ;g dEiuh izfro"kZ ykHk dk 20% lkekU; 

lap; dks varfjr djrh gSA visf{kr vk; nj ds vk/kkj ij lerk va'k dk ewY; Kkr dhft,A  

                                              Or ¼vFkok½ 

 What is meant by reconstruction of company? What Journal Entries are make.  
 dEiuh ds iqufuekZ.k dk D;k vFkZ gS\ iqufuekZ.k dh n'kk esa dkSu&dkSu lh iwath izfof"V;k dh tkrh gSA  

 le>kb,\  

  

 

 

Q. 5 What do you mean by amalgamation in the nature of merger and nature of purchase? What is the difference 

between two.  
foy; ds LokHkko okys o O;; ds LoHkko ds ,dhdj.k ls vki D;k le>rs gSa bu nksuksa esa vUrj gSA  

             Or ¼vFkok½ 

What is meant by statement of affairs? Prepare a format of the statement with imaginary figure.  
fLFkfr fooj.k D;k gksrk gS\ bu fooj.k dk ,d uewuk dkYifud vkadM+ksa ls rS;kj djks\  

 

Enrollment No………………………. 

Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

Indian Company Act [BCI303T] 

Time: 3:00 Hrs                                                                          Max Marks 85 

Note: - All three sections are compulsory. Student should not write anything on question Paper. 

: -

                                                              (Part-A) (Hkkx v)                            [1×5=5] Marks 

This Section contains Objective type question each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q.1 Multiple Choice Question / oLrqfu"B iz'u& 

 

(i)  Private company should have maximum number of members -  
izkbosV daiuh esa lnL;ksa dh vf/kdre la[;k gksrh gS &  

(a) 200  (b) 50  (c) 30  (d) 20 

 

(ii)  The company is based on the number of members -  
lnL;ksa dh la[;k ij vk/kkfjr daiuh gS &  

(a) Independent company / Lora= daiuh   

(b) Subsidiary company / lgk;d daiuh  

(c) Government company / ljdkjh daiuh       (d) Holding 

company / lw=/kkj daiuh  

 

(iii)  Required for articles of association -  
ik"kZn vUrfuZ;e ds fy, vko';d gS &  
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(a) To be printed / eqfnzr gksuk 

(b) Be singed / gLrk{kfjr gksuk  

(c) All of above / ;s lHkh  

(d) None of above / dksbZ ugha 

 

(iv) The notice period of the general assembly is -  
lk/kkj.k lHkk dh uksfVl vof/k gS &  

(a) 7 Days (b) 14 Days  (c) 21 Days (d) 28 Days 

 

(v)  The number of quorum is in the assembly of a public company with 6,000 members- 
6]000 lnL;ksa okyh ifCyd daiuh dh lHkk esa x.kiwfrZ dh la[;k gS &  

(a) 2  (b) 3  (c) 4  (d) 5 

 
       Part-B  (Hkkx c)                                     [5×5=25] Marks 

This section contain short answer type question. Each question carries 5 marks. 

All questions are compulsory. 
y?kq mRrjh; iz'uA izR;sd iz'u ds 5 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 

 

Q.1 Give the definition of company.  
 dEiuh dh ifjHkk"kk nhft,A  

Or ¼vFkok½ 

 Write the types of company.  
 dEiuh ds izdkj crkb,A  

 

Q.2 What is memorandum of association?  
 ik"kZn lhek fu;e D;k gS\ 

Or ¼vFkok½ 

 What is prospectus?  
 izfooj.k D;k gS\  

 

Q.3 What is share capital?  
 va'k iw¡th D;k gS\  

Or ¼vFkok½ 

 Give the types of share capital.  
 va'k iw¡th ds izdkj crkb;sA  
 

Q.4 What is the meaning of managing directors?  
 izca/k lapkyd D;k gS\  

Or ¼vFkok½ 

 Explain the rights of managing directors. 
 izca/k lapkyd ds vf/kdkj crkb,A 

 

Q.5 What is power of majority? 
 cgqla[;d dh 'kfDr;ka dkSu lh gSa\ 

Or ¼vFkok½ 

 What are the rights of minority?  
 vYila[;d ds vf/kdkj D;k gS\  
 

               Part-C  (Hkkx l)                                     [5×11=55] Marks 

 Long answer type question. Each question carries 11 marks. 

 All questions are compulsory. 
 nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 11 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 

Q. 1 Explain the process of formation of company. 
daiuh fuekZ.k dh izfØ;k crkb,A 

Or ¼vFkok½ 
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Explain the meaning, characteristics and type of company.  
daiuh dh ifjHkk"kk] fo'ks"krk,¡ ,oa izdkj crkb;s\  

 

Q. 2 What do you mean by memorandum of association? How does it different from article of association?  
 ik"kZn lhek fu;e ls D;k le>rs gSA ;g ik"kZn vUrZfu;e ls fdl izdkj fHkUu gS\  

     Or ¼vFkok½ 

 What is meant by untrue statement in the prospectus?  
 izfooj.k esa vlR; dFku ls D;k vk'k; gS\ mlds izHkkoksa dk o.kZu dhft,\  

 

 

Q. 3 What are the restrictions on rights of company to take loan? What remedies are available to a creditor if a 

company takes loans outside its power?  
 dEiuh ds _.k ysus ds vf/kdkj ij D;k izfrca/k gS\ ;fn dEiuh vius vf/kdkjks ds okgj _.k ysrh gS rks _.knkrk dks D;k mipkj 

izkIr gSA  

        Or ¼vFkok½ 

 What do you understand by transfer to shares? Write the share transfer procedure. 
 va'k gLrkarj.k ls vki D;k le>rs gSa\ va'k gLrkarj.k fof/k dk o.kZu dhft,A 

 

Q. 4 What is poll? State the methods of poll. 
 erx.kuk D;k gS\ erx.kuk dh fof/k dk o.kZu dhft,A 

Or ¼vFkok½ 

Explain provisions of company act about appointment number and resignation of directors.  
 Lapkydksa dh fu;qfDr la[;k vkSj muds in R;kx ds lEcU/k esa dEiuh vf/kfu;eksa ds micU/kksa dk o.kZu dhft,A  

 

Q. 5 Who is Receiver? State his rights & duties. 
 fuLrkjd dkSu gS\ mlds vf/kdkj vkSj drZO; crkb,A 

      Or ¼vFkok½ 

 Under what circumstances may a company be wind up by the court? 
 fdu ifjfLFkfr;ksa esa vnkyr fdlh daiuh dk lekiu djk ldrh gS\ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Enrollment No………………………. 

Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

C++ Programming Language [BCP303T] 

Time: 3:00 Hrs                                                                          Max Marks 85 
Note: - All three sections are compulsory. Student should not write anything on question Paper. 

: -
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(Part-A) (Hkkx v)                                   [1×5=5] Marks 

This Section contains Objective type question each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

 

Q.1  Multiple choice Question / oLrqfu"B iz'u& 

(i)  Which of the following is/are not a manipulators - 
fuEu esa ls dkSu lk ,d esfuiqysVj ugha gS &  

(a) Flush / ¶y'k  (b) be sec / ch lsd   (c) Ends / ,aM   

(d) Oct / vkWDV  (e) bin / chu     (f) skipws / LdhIl  

1. Only (a), (f) / dsoy (a), (f) 

2. Only (a), (d), (f) / dsoy (a), (d), (f) 

3. Only (a), (c), (f) / dsoy (a), (c), (f) 

4. Only (f), (e) / dsoy (f), (e)   

 

(ii)  Streams that will be performing both input and output operations must be declared as class -  

buiqV vkSj vkmViqV lapkyu nksuksa djus okyh LVªhe dks_____ds :i esa ?kksf"kr fd;k tkuk pkfg, &  

(a) io stream / io fLVªe    (b) f stream / f fLVªe  

(c) std stream / std fLVªe   (d) stdio stream / stdio fLVªe 

 

(iii)  Exception handlers are declared with ____ keyword _____ - 

viokn gSaMyj dks ____ dh oMZ ds LkkFk ?kksf"kr fd;k tkrk gS &  

(a) Try /  Vªk;    (b) Catch / dSp   

(c) Throw / Fkzks     (d) Finally / Qk;uyh  

 

(iv) Which of the following operator is used to release the dynamically allocted memory in CPP -  
esa Mk;ufed :i ls vkoafVr eseksjh dks pksjh djus ds fy, fuEufyf[kr esa ls dkSu&lk vkWijsVj dke djrk gS &  

(a) Remove / gVkuk   (b) Free / eqDr   

(c) Delete / lekIr     (d) Both (b) & (c) / nksuksa (b) vkSj (c)    

 

(v)  Create an output stream, we mut declare the streams to be of class - 

,d output stream cukus ds fy, gesa Dykl ?kksf"kr djuk gksxh &  

(a) of stream / of fLVªe    (b) if stream / if fLVªe  

(c) io stream / io fLVªe   (d) None of these / buesa ls dksbZ ugha 

 

 

Part-B  (Hkkx c)                                        [5×5=25] Marks 

This section contain short answer type question. Each question carries 5 marks. 

All questions are compulsory. 
y?kq mRrjh; iz'uA izR;sd iz'u ds 5 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 
Q.1 Explain flow chart?  
 ¶ykspkVZ D;k gS\  

Or (vFkok) 

 Explain translator?   
 VªkalysVj D;k gS\   

                          

Q.2 What is control statement?   
 dUVªksy LVsVesaV D;k gS\   

Or (vFkok) 

 What is looping?    
 Ykwfiax D;k gS\   

 

Q.3 What is switch case?   
 Lohp dsl D;k gS\   

Or (vFkok) 
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 Explain go to statement?    
 xks Vw LVsVesaV le>kb;s\    

      

Q.4 Explain functions used in C++?   

 C++ esa iz;ksx gksus okys QaD'ku le>kvksa\   

Or (vFkok) 

 What is Array?    
 vjs D;k gS\    
 

Q.5 Explain types of Array?    
 vjs ds izdkj crkvksa\    

Or (vFkok) 

 What is Union?  
 ;wfu;u D;k gS\     

 

        Part-C  (Hkkx l)                             [5×11=55] Marks 

Long answer type question. Each question carries 11 marks. All questions are compulsory. 
nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 11 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 

Q. 1 Explain Compiler, Assembler, Interpreter?     
 dEikbyj] vlsEcyj] baVjfizVj dks le>kvks\     

Or (vFkok) 

 Explain Algorithm & Flow chart?     
 ,Yxksfjne vksj ¶yks pkVZ dks le>kvksa\     

 

 

 

 

Q. 2 Explain characteristics  of C++ language?      

 C++  Hkk"kk dh fo'ks"krk,¡ crkvksa\      

Or (vFkok) 

 Explain data types?      
 MkVk Vkbi le>kvks\      

 

Q. 3 Explain switch case with example?      
 Lohp dsl dks mnkgj.k lfgr le>kvksa\      

Or (vFkok) 

 What is Continue statement?      
 fujarj LVsVesaV D;k gS\  

 

Q. 4 What are local & globle variable?      
 Ykksdy vkSj Xykscy osfj,cy D;k gS\      

Or (vFkok) 

 What is Operators?      
 vkWijsVlZ D;k gS\      

 

Q. 5 Explain 2
nd

 Array with example?      
 f}rh; vjs dks mnkgj.k lfgr le>kvksa\      

Or (vFkok) 

 Explain difference between structure & union?      
 LVªDpj vkSj ;wfu;u ds chp varj crkvks\      
  

 

 

 

 

Enrollment No………………………. 
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Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

Principle of Statistics [BCS302T] 

Time: 3:00 Hrs                                                                          Max Marks 85 

Note: - All three sections are compulsory. Student should not write anything on question Paper. 

: -

                                                              Part-A  (Hkkx v          [1×5=5] Marks 

This Section contains Objective Type Question each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

Q.1 Multiple choice Question / oLrqfu"B iz’u 

 

(i)  The term statistics was used first in - 
lkaf[;dh 'kCn dk loZizFke iz;ksx fd;k x;k Fkk& 

(a) 1739      (b) 1749 

(c) 1759     (d) 1769 

 

(ii) Utility of Statistics is -  
lkaf[;dh dh mi;ksfxrk & 

(a) Increasing / c<+ jgh gS    

(b) Decreasing / ?kV jgh gS  

(c) Neither increasing nor decreasing / u c<+ jgh vksj u ?kV jgh gS 

(d) Both A & B / nksuksa 

 
(iii)  Which of the following is related to "Regression" 

fuEufyf[kr esa ls fdldk laca/k Þizrhixeuß ls gS 

(a) Erving Fisher / bjfoax fQ'kj    (b) Spearman / fLi;jeSu 

(c) Bowley /ckWmys     (d) Galton/ xkYVu 
 

 (iv)   Base year may be- 
vk/kkj o"kZ gks ldrk gS& 

(a) Fixed /fLFkj     (b) Average / vkSlr 

(c) Chain /J̀[kayk    (d) All of these/ ;s lHkh  
 

(v)  Fisher Index number is based on-  
fQ'kj dk lwpdkad vk/kkfjr gS& 

(a) Weighted average / Hkkfjr ek/; ij 

(b) Harmonic average / gjkRed ek/; ij  

(c) Geometric mean / xq.kksÙkj ek/; ij 

 (d) None of these  / buesa ls dksbZ ugha  

 

 

 

 

 

 

 

Part-B  (Hkkx c)                                             [5×5=25] Marks 

This section contain short answer type question. Each question carries 5 marks. 

All questions are compulsory. 
y?kq mRrjh; iz’uA izR;sd iz’u ds 5 vad fu/kkZfjr gSaA lHkh iz’u gy djuk vfuok;Z gSA 

Q.1 Give the meaning of statistics. 
 lkaf[;dh dh ifjHkk"kk nhft,A 

Or ¼vFkok½ 

 Explain the process of data collection. 
 lead ladyu dh izfØ;k D;k gS\ 

 

Q.2 Define primary and secondary data. 
 izkFkfed rFkk f}fr;d leadks dk vFkZ crkb,A 
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Or ¼vFkok½ 

 What do you understand by statistical mean? 
 lkaf[;dh ek/; ls vki D;k le>rs gSa\ 

 

Q.3 What is Geometric mean.  
 T;kfefrd ek/; D;k gSA 

Or ¼vFkok½ 

Explain Harmonic mean.  
 gjkRed ek/; dks le>kb,A 

 

Q.4 Explain the Dispersion and Skewness.  
 vifdj.k vksj fo"kerk dks le>kb,A 

Or ¼vFkok½ 

 Discuss the various measure of Skweness. 
 fo"kerk ds fofHkUu ek/; crkb,A 

 

Q.5 'Index number are economic barometers' Explain the statement.  

 'funsZ'kkad vkfFkZd csjksehVj gS' dFku dks le>kb,A 

Or ¼vFkok½ 

Discuss the utility of index number. 
funsZ'kkad dh mi;ksfxrk crkb,A 

 

 

Part-C  (Hkkx l)                                             [5×11=55] Marks 

 Long answer type question. Each question carries 11 marks.  

 All questions are compulsory. 
 nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 11 vad fu/kkZfjr gSaA lHkh iz’u gy djuk vfuok;Z gSA 

 

Q. 1 Explain the use of statistic for economic analysis and planning.     
 vkfFkZd fo'ys"k.k ,oa fu;kstu esa lkaf[;dh dh mi;ksfxrk crkb,A 

Or ¼vFkok½ 

 Find out the mean and median from the following data:  
 fuEu leadks ls ek/; rFkk ef/;dk Kkr dhft,A 

 Income (Rs) / vk; : esa       —  40-44     45-49     50-54     55-59     60-64        65-69 

No. of Person/ O;fDr;ksa dh la[;k  —         2            7          10           12             8 5 
 

 

 

 

 

 

Q. 2 Describe the functions and limitation of the statistics. 
 lkaf[;dh ds dk;ksZ ,oa lhevksa dk o.kZu dhft,A 

Or ¼vFkok½ 

Explain the meaning of central tendency. Explain the various methods of measuring it. 
dsUnzh; izòfÙk dk vFkZ le>kb,A bls ekius dh fofHkUu fof/k;ksa dks le>kb,A 

  

Q.3 Explain the various measure of skewness. Give examples where necessary. 
 fo"kerk ds fofHkUu ekiksa dks le>kb,A tgka vko';d le>sa mnkgj.k Hkh nhft,A 

Or ¼vFkok½ 

 Write short note on - 
 fuEu ij fVIi.kh fyf[k,& 

 (1) Correlation / lglaca/k        (2) Regression/ izrhixeu   

 

Q. 4 What do you mean by standard dariatim? Write the method of measuring it.  
 izrke fopyu D;k gS\ bls ekius dh fof/k fyf[k,A 

 (1) Correlation / lglaca/k        (2) Regression/ izrhixeu 

Or ¼vFkok½ 

Why are there two regression lines? Under what condtion can there by only one regression line.  
 izrhixeu js[kk,a nks D;ksa gksrh gS\ fdu ifjfLFkfr;ksa esa dsoy ,d gh izrhixeu js[kk gks ldrh gSA le>kb,A 

 

Q. 5 What is cost living index number? Why purpose does it serve? Explain. 
 thou fuokZg lwpdkad D;k gS\ ;g fdl mÌs'; dh iwfrZ djrk gS\ le>kb,A 

             Or ¼vFkok½ 
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llan ds 100 lnL;ksa dk vk;q ds vuqlkj caVu fuEufyf[kr gS bldk izeki fopyu vkSj xq.kkad Kkr dhft,& 

 Age (in year)/ vk;q ¼o"kksZ esa ½       —  30-40     40-50     50-60     60-70     70-80    80-90 

 No. of members/ lnL;ksa dh la[;k  —         3            51          25           5             9           7  

  

 

 

 

Enrollment No………………………. 

Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

Indian Tax & Income Tax Law [BCT303T] 

Time: 3:00 Hrs                                                                          Max Marks 85 

Note: - All three sections are compulsory. Student should not write anything on question Paper. 

: -

Part-A (Hkkx v)                                       [1×5=5] Marks 

This Section contains Objective type question each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q.1  Multiple choice Question / oLrqfu"B iz'u& 

(i)  Agriculture income includes -  
df̀"k vk; esa 'kkfey gS &  

(a) Income by agriculture work / df̀"k dk;Z ls vk;    

(b) Rent on agriculture land for agriculture work / df̀"k dk;Z gsrq fdjk;s ls nh x;h Hkwfe dk fdjk;k 

(c) Income from growing flowers / Qwyksa ds mRiknu ls vk;    

(d) All of above / mijksDr lHkh   

 
(ii)  Income tax is - 

vk;dj gS &  

(a) Direct tax / izR;{k dj   (b) Indirect tax / vizR;{k dj 

(c) Progressive tax/ c<+k gqvk dj  (d) None of these/ buesa ls dksbZ ugha 

 

(iii)  An individual may get income -   
,d O;fDr dks vk; izkIr gks ldrh gS &  

(a) In India / Hkkjr esa   (b) Outside India / Hkkjr ds ckgj  

(c) Both (a) & (b) / nksuksa (a) ,oa (b)  (d) No where / dgha ugha  

 

(iv) Airears of salary of employee is -  
deZpkjh dk osru cdk;k gS &  

(a) Taxable / dj;ksX;   (b) Exempt  / djeqDr 

(c)  Partially taxable / va'kr% dj ;ksX;   (d) None of these / mijksDr esa dksbZ ugha 

 

(v)  For income-tax purpose, the house means -  
vk;dj mn~ns'; ds fy, ?kj ls vk'k; gS &  

(a) Dwelling house / vkoklx̀g    

(b) Building for office use / dk;kZy; mi;ksx ds fy, Hkou  

(c) Go down or storage / xksnke vkSj Hk.Mkjx̀g   

(d) All the these are included in house / lHkh rhu ?kj esa 'kkfey gSA  

 

 

Part-B  (Hkkx c)                                    [5×5=25] Marks 

This section contain short answer type question. Each question carries 5 marks. 
All questions are compulsory. 
y?kq mRrjh; iz'uA izR;sd iz'u ds 5 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 
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Q.1 What is a tax?  
 dj fdls dgrs gS\  

Or ¼vFkok½ 

 What are the aims of imposing taxes in the modern time? 
 vk/kqfud ;qx esa dj yxkus ds D;k mn~ns'; gS\  

   

Q.2 Who is ordinarily resident? 
 lk/kkj.k fuoklh dkSu gksrk gS\                                                                                              

 Or ¼vFkok½ 

 What do you mean by perquisites? 
 vuqykHkksa ls D;k vk'k; gS\ 

   

Q.3 Explain the term 'fair rent' of the house. 

 edku ds 'mfpr fdjk;s' dks le>kb,A 

Or ¼vFkok½ 

 State provisions for calculating tax free gratuity. 
 dj eqDr xzsP;qVh dh x.kuk ds izko/kku crkb,A 

 

Q.4 Distinguish between long term capital gains and short term capital gains. 
 nh?kZ dkyhu iqathykHk rFkk vYidkfyu iqath ykHk esa D;k vUrj gSA  

Or ¼vFkok½ 

 Mention contribution of direct taxes in revenue. 
 jktLo esa izR;{k djksa dk ;ksxnku crkb,A 
 

Q.5 How does gross total income differ from total income? 
 ldy dqy vk; dqy vk; ls fdl izdkj fHkUu gS\ 

Or ¼vFkok½ 

 What do you understand by Income tax.  
 vk;dj ls vk; D;k le>rs gSA  

 

        Part-C  (Hkkx l)                                     [5×11=55] Marks 

Long answer type question. Each question carries 11 marks. All questions are compulsory. 
nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 11 vad fu/kkZfjr gSaAlHkh iz'u gy djuk vfuok;Z gSA 

 

Q. 1 Discuss the role of direct taxes in Indian economics and give suggestions for improvements in frame 

world of direct taxes. 
Hkkjrh; vFkZO;oLFkk ij izR;{k djks dh Hkwfedk crkb, rFkk izR;{k dj <kaps esa lq/kkj gsrq lq>ko nhft,A 

 

Or ¼vFkok½ 

What do you understand by Income tax? Discuss its main characteristics.  
 vk;dj ls vki D;k le>rs gS\ vk;dj dh fo'ks"krk,¡ le>kb;sA  

 

Q. 2 Explain the provision of tax free and taxable income of various receipts to the employee on retirement.  
 vodk'k xzg.k ij deZpkjh dks fofHkUu izkfIr;k¡ ds dj eqDr ,oa dj;ksX; vk; ds izko/kku le>kb;sA  

     Or ¼vFkok½  

 Why will be resident in Indian under the income tax act. 
 vk;dj vf/kfu;e ds vUrxZr dkSu O;fDr fuoklh ekuk tk;sxkA 

 

Q. 3 How can be computed taxable income under the head of income from other sources?  
 vU; lk/kkuksa ls vk; 'kh"kZd ds vUrxZr vk; dh x.kuk dSls dh tkrh gS\   

                 Or ¼vFkok½ 

What is gross annual income?  
 ldy okf"kZd ewY; D;k gS\  
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Q. 4 State clearly allowed deductions for calculating income from business of profession?  
 O;kikj vFkok is'ks dh vk; dh x.kuk djus ds fy, Li"V rFkk Lohdr̀ dVkSfr;k¡ crkvksa\  

   Or ¼vFkok½ 

Shri A.K. Jain who is not covered by the payment of Gratuity Act 1972, receives a gratuity of Rs. 

5,76,000 when he retires on 23
rd

 June, 2018 after a service of 34 years 9 months & 23 days. His last 

drawn amounts are as follows:  

Basic salary Rs. 31,200 P.M., Deamess allowance Rs. 7,200 P.M.(fixed), Annual increment in basic 

salary Rs. 1200 P.M. falls due on 1
st
 Jan, every year. What amount of gratuity is exempt from tax in 

the assessment year 2019-20?  
 Jh ,-ds-TkSu tks fd isesaV vkWQ xzsP;qVh ,DV 1972 ds vUrxZr ugha gS] mUgsa 5]76]000 :- dh xzsP;qVh feyrh gSA tc og 23 twu 

2018 dks 34 o"kZ 9 efgus vkSj 23 fnu dh lsok ds ckn lsok fuoR̀r gks tkrs gSaA muds vafre fudkys x;s en bl izdkj gS &  

 ewy osru 31]200 :- izfrekg] egaxkbZ HkRrk 7]200 :- izfrekg ¼fuf'pr½] ewy osru esa 10 izfr'kr okf"kZd of̀) 12]00 :- izfrekg 

gj lky 1 tuojh dks iM+rk gSA ewY;kad o"kZ 2019&20 esa fdl jkf'k dks xzsP;qVh dks dj ls eqDr fd;k x;k gS\   

 

Q. 5 Mr. Akalank gets following gifts in July (Previous year 2018-19). State its taxability under each 

situation for the assessment year 2019-20.  
 Jh vdkyad dks tqykbZ ¼fiNys o"kZ 2018&19½ eas fuEufyf[kr migkj feysA foRrh; o"kZ 2019&20 ds fy, izR;sd fLFkfr esa muds 

dj ;ksX;rk dk fu/kkZj.k djsa&  

(i) Gift of Rs. 50,000 from his friend / fe= ls 50]000 ewY; dk migkj 

(ii) Gift of Jewelry worth Rs. 20,0000 from his fiance / eaxsrj ls 20]000 :- ewY; ds vkHkw"k.kksa dk migkj 

(iii) Gift of 21,000 Rs. Each from his two friends on his marriage / vius nks fe=ksa ls fookg ij 21]000 :- 

izR;sd ls izkIr  

(iv) Gift of 68,000 Rs. from his father‟s brother / vius firk ds HkkbZ ls 68]000 dk migkj  

 

(v) Gift of 41,000 Rs. from his friend / vius fe= ls 41]000 :- dk migkj  

       Or ¼vFkok½ 

  Who will be resident in India under the income tax act?  
  vk;dj ds vUrxZr dkSu O;fDr Hkkjr dk fuoklh ekuk tk,xk\  
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Enrollment No……………… 

Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

English [FCC301HE] 

Time: 1:20 Hrs                                                                          Max Marks 35 

 

Note : There are three parts in this paper.  All parts are compulsory. 

 

Part-A 

Q1.  Objective type question                     [1×5=5] Marks  

 

(i) What is the purpose of pilling rubbish - 

(a) To dispose it    (b) To burn 

(c) To create a tree   (d) To recycle it 

 

(ii) What gives colors to the twigs in the poem - 

(a) Season    (b) Buds  

  (c) Local environment    (d) Plastic  

 

(iii) The scorpion is referred as -  

(a) The evil one    (b) Poisonous one  

(c) Dangerous     (d) Ill sprit  

 

(iv) The term „Man of Science‟ refers to -  

(a) Teacher    (b) Astronaut  

(c) Astrologist     (d) Computer operator  

 

(v) One the rule of the road is an essay about -   

(a) Traffic rules      
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(b) Road accident  

(c) Liberty & its limitation     

(d) Manners and mannerism of the people on the road  

 

Part-B 

Q.2  Short answer type questions (any 5)          [5×2=10] Marks 

 

(i) Who is the “I” in the poem? 

(ii) What is the meant by the rule of road?  

(iii) What is meaning of Science?  

(iv) Why should we respect the rights of the people?  

(v) How did the peasant search for the scorpion?  

(vi) What was the mother‟s reaction to the scorpion‟s bite?    

 

Part-C  

 

Q.3  Long answer type questions (any 2)    [5x2=10] Marks  

 (i) Write a short note on the superstitions beliefs on the villagers?  

 (ii) Write an essay on the Gardiner‟s view on liberty?  

 (iii) Why it is necessary to posses social sense?  

 

Q.4  Paragraph writing (any 1)     [5x1=5] Marks 

 (i) The Computer  (ii) Changing idea of family  

 

Q.5   Do as directed.         [5×1=5] Marks 

 (i) Use the appropriate articles or determiners -  
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 (a) I used my shoes as _______ hammer.  

 (b) We went to ______ same school.  

 

 (ii) Find the correct preposition -   

 (a) I saw something about it _______ television. (in/on/at/by) 

 (b) She took the key _______ her pocket and put it _____ the lock.  

(in/into/out of/between)   

(c) Keep the secret _____ you and me. Don‟t ______ your friends.  

(to/in/with/between/of/among)      
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Enrollment No………………………. 

Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

Hindi [FCC301HE] 

Time: 1:40 Hrs                                                                         Max Marks 50 

Hkkx ¼v½ 

oLrqfu"B iz'u %            [1×5=5] 

 

iz-1 f'kdkxks O;k[;ku Lokeh foosdkuan us fn;k Fkk &  

 ¼v½ 11 flrEcj 1893   ¼c½ 11 flrEcj 1994 

 ¼l½ 11 flrEcj 1890   ¼n½ 11 flrEcj 1892 

 

iz-2 dNqvk /kje fuca/k ds ys[kd dkSu gS &  

 ¼v½ eksgu jkds'k    ¼c½ ckcw xqykcjk; 

 ¼l½ pUnz/kj 'kekZ xqysjh   ¼n½ ia- jkeukjk;.k mik/;k; 

 

iz-3 lknxh ikB fy[kk x;k gS &  

 ¼v½ esjh dgkuh ls    ¼c½ esjh vkRedFkk ls 

 ¼l½ Hkkjr dh dgkuh ls   ¼n½ lR; ds iz;ksx ls 

 

iz-4 MkW- vCnqy dyke dh izkjafHkd f'k{kk dgk¡ ls gq;h Fkh &  

 ¼v½ dukZVd    ¼c½ dsjy  

 ¼l½ vgenkckn     ¼n½ jkes'oje~ 

 

iz-5 ^phQ dh nkor* dgkuh ds ys[kd gS &  

 ¼v½ Hkh"e lgkuh    ¼c½ eksgu jkds'k  

 ¼l½ fueZy oekZ     ¼n½ euq Hk.Mkjh 

 
Hkkx ¼c½ 

y?kqmRrjh; iz'u ¼dksbZ 5½ %       [5×5=25] 
 

iz-1 jkeukFk vkSj mudh iRuh ek¡ dks fdl rjg jgus dh fgnk;rs nsrs gS\  

      

 

 

iz-2 MkW- vCnqy dyke dks fdu iqjLdkjkas ls vya—r fd;k x;k gS\ 

 

iz-3 jk"Vªokn ls D;k vk'k; gS\ fucU/k fyf[k,A 

 

iz-4 vkx dk vkfo"dkj dSls gqvk\ 
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iz-5 lekl dh ifjHkk"kk fy[kus gq;s mlds izdkj fyf[k,\  

 

iz-6 Hk; fdrus izdkj ds gksrs gS\ 

 

iz-7 fgUnh esa o.kZ foU;kl dks le>kb;s\ 

 

iz-8  rksM+rh iRFkj dfork dh Hkk"kk ij fVIi.kh fyf[k,\ 

 

iz-9 dksVZ esa cSfjLVjksa ds chp egkRek xk¡/kh etkd dk lk/ku D;ksa cu x;s\  

 

iz-10 vyadkj fdrus izdkj ds gksrs gS\  

Hkkx ¼l½ 

nh?kZmRrjh; iz'u %             [5×5=25] 
 

iz-1 egkRek xka/kh dks fdl ?kVuk us nq%[kh fd;k Fkk\ 

 

iz-2 ukjh ds bfrgkl ,oa orZeku ds cfynkuksa esa D;k varj gS\ 

 

iz-3 lPps /keZ dh D;k igpku gS\  

 

iz-4 fgUnq /keZ ls vki D;k le>rs gS\  

 

iz-5 Hkkjr dh yEch lkaL—frd xkFkk D;k gS\  

 

iz-6 dNqvk /keZ fuca/k dk lkj fy[kks\ 

 

iz-7 oSKkfudksa ds vkfo"dkjksa us euq"; thou dks dSls izHkkfor fd;k gSA 

 

iz-8 egf"kZ vjfoUn us bZ'oj ds le{k D;k izkFkZuk dh\  

 

iz-9 fgUnh esa vuqLokj ,oa vuqekfld ds iz;ksx dks foLrkj ls le>kvksa\ 

 

iz-10 MkW- vCnqy dyke ds thou dh fodkl ;k=k ij izdk'k Mkfy,\  

 
Enrollment No………………………. 

Bachelor of Commerce 

Third Semester Main Examination, Dec-2020 

Environmental Science [FCC302EP] 

Time: 3:00 Hrs                                                                          Max Marks 35 

Note: - All three sections are compulsory. Student should not write anything on question Paper. 

: -  
Part-A (Hkkx v)                                             [1×5=5] 

This Section contains Objective Type Question. Each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

 

Q.1 Multiple choice Question / oLrqfu"B iz'u 

(i)  Water is use in -  
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 ikuh dk iz;ksx gksrk gS &  

(a) Irrigation / flapkbZ esa     

(b) Industries / m|ksx esa 

(c) Extraction of minerals / [kfutksa dh fudklh    

(d) All the above / mijksDr lHkh  

 

(ii)  In Hindi which one is more dangerous condition of drought -  
 fgUnh esa lw[ks dh [krjukd fLFkfr dkSu lh gS &  

(a) Akal/ vdky    (b) Trikal / f=dky 

(c) Kal / dky    (d) None of these / mijksDr esa ls dksbZ ugha  

 

(iii)  Which are is the under water source -  
 ikuh ds Hkwfexr L=ksr dkSu ls gS &  

(a) Hand Pump / gs.M iEi     

(b) Lake / >hy  

(c) Pond / rkykc  

(d) River / ufn;k¡  
 

(iv)  Dam affects the -  
 Ckk¡/k izHkkfor djrk gS &  

(a) Forests / taxyksa dks    

(b) Tribes / tutkfr;ksa dks  

(c) Wild life / taxy thou dks   

(d) All the above / mijksDr lHkh dks  

 

(v)  Only land can -  
flQZ Hkwfe gh &  

(a) Consume / miHkksx dj ldrh gS   (b) Donate / nku dj ldrh gS 

(c) Produce / mRiUu dj ldrh gS   (d) Disaster / u"V dj ldrh gS 

 

 

Part-B (Hkkx c)                                 [5×2=10] 

This section contain short answer type question. Each question carries 2 marks. 

All questions are compulsory. 
y?kq mRrjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 

Q.1  What do you mean by environmental pollution?  
 i;kZoj.k iznq"k.k ls D;k rkIr;Z gS\  

OR 

Write the causes of the floods.  
Ckk<+ ds dkj.k fy[kksaA   

 

Q.2  What is air pollution?  
 ok;q iznq"k.k D;k gS\  

OR 

How does the use of wood in furnishers harm the forest?  
QuhZpj esa ydM+h dk iz;ksx fdl rjg taxyksa ds fy, gkfudkjd gS\  

 

Q.3  Define population growth.  
 tula[;k o`f) dks le>kb;sA  

OR 

Define population explosion in India.  
Hkkjr esa tula[;k foLQksV dks le>kb;sA  

 

Q.4  What is water pollution?   
 ty iznq"k.k D;k gS\  
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OR 

Give the causes of water pollution.  
ty iznq"k.k ds dkj.k crkvksaA  

 

Q.5  Write the benefits of Rivers.    
 ufn;ksa ds ykHk crkvksaA   

OR 

Compare the rivers of north and south India?  
mRrj vkSj nf{k.k dh Hkkjrh; ufn;ksa dh rqyuk djks\  

 

Part-C (Hkkx l)                                    [5×4=20] 

Long answer type question. Each question carries 4 marks.  

All questions are compulsory 
nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 4 vad fu/kkZfjr gSaA lHkh iz'u gy djuk vfuok;Z gSA 

 

Q.1  Explain disadvantages of environmental pollution.  
 i;kZoj.k iznw"k.k dh gkfu;k¡ crkvksaA  

OR 

Explain the benefits and problems due to Dams.  
Ckk¡/k ds dkj.k gksus okys ykHk vkSj gkfu;k¡ crkvksaA  

 

 

 

Q.2  What do you understand by forest resources?  
ou lalk/kuksa ls D;k vk'k; gS\  

OR 

Explain the utility & importance e of forest.  
taxyksa dh mi;ksfxrk vkSj egRo dk o.kZu djksA  

 

Q.3  What do you understand by land resources?  
Hkwfe lalk/kuksa ls vkidk D;k vk'k; gS\  

OR 

How does improper use of land? Explain.  
Hkwfe dk vuqfpr mi;ksx dSls gksrk gS\ le>kb;sA  

 

Q.4  Explain the position of India in world‟s population.   
fo'o tula[;k ds lanHkZ esa Hkkjr dh fLFkfr dk o.kZu djksA  

OR 

Write the characteristic of Industrialization.  
vkS|ksfxdj.k dh fo'ks"krk,¡ crkvksaA  

 

Q.5  How does air pollution affects human heath?    
ok;q iznw"k.k fdl izdkj ls ekuo dh lsgr dks izHkkfor djrk gS\  

OR 

How does the noise pollution affect human heath?  
/ouh iznw"k.k fdl rjg ls ekuo dh lsgr dks izHkkfor djrk gS\  

 

 


